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Unit 2 – Microeconomics – Costs, Revenues and Profit

Costs and Revenues
· [image: image2.wmf]What is meant by the term Total Revenue. 
· How to illustrate Total Revenue.
· The difference between Fixed Costs and Variable Costs.

· How to calculate Total Costs.

1. What do you understand by the term ‘Total Revenue?’

____________________________________________________________
2. How do you calculate Total Revenue?

___________________________________________________________
3. Why is revenue not the same thing as profit?

________________________________________________________________________________________________________________________
4. Illustrate Total Revenue on the Demand and Supply diagram below.

[image: image3.wmf]
5. Using the table below calculate the Total Revenue :-

	Price


	Sales (Number of units)
	Total Revenue

	22


	0
	

	20


	1
	

	18


	2
	

	16


	3
	

	14


	4
	

	12


	5
	

	10


	6
	

	8


	7
	

	6


	8
	

	4


	9
	

	2


	10
	

	0


	12
	


6. Plot the Total Revenue on the graph paper.
7 What do you notice about the Total Revenue curve ?

____________________________________________________________________________________________________________________________________________________________________________________
8. The Costs involved with producing a product can be divided into two different types.

· Fixed Costs (FC) –

__________________________________________________________________________________________________________________
· Variable costs (VC) – 

__________________________________________________________________________________________________________________

9. On the diagram below identify the difference between fixed and variable costs.

[image: image4.wmf]
5) Using the table below classify the costs below as fixed or variable (Imagine the  product is electrical toys.

	· Fabric
	· Electronic parts
	· Business rates

	· Staff wages
	· Rent
	· Packaging

	· Overheads 

· (Water,Gas)
	· Administration costs
	· 


	Fixed
	Variable

	
	· 


7. How do you calculate the Total Costs of a firm?

________________________________________________________________________________________________________________________
8. Complete the table below.

	Output
	TVC
	TFC
	TC



	0
	0
	200
	

	1
	300
	200
	

	2
	500
	200
	

	3
	600
	200
	

	4
	650
	200
	

	5
	750
	200
	

	6
	900
	200
	

	7
	1100
	200
	

	8
	1400
	200
	


9. Plot the figures from the table onto the graph paper.

10. What do you notice about the shape of the Total Cost curve?

____________________________________________________________________________________________________________________________________________________________________________________
11. Using the figures below plot the Total Revenue and Total Cost curves.

	Output


	TC
	TR

	0
	200
	0

	1
	500
	300

	2
	700
	700

	3
	800
	900

	4
	850
	1100

	5
	950
	1100

	6
	1100
	900

	7
	1300
	700

	8
	1600
	300

	9
	2000
	0


12. What is meant by the term ‘Break-even’ and at what level of out put do the firm ‘Break-even’?

___________________________________________________________
________________________________________________________________________________________________________________________
13. How do you calculate profit and over what range of output are the firm profitable?

____________________________________________________________________________________________________________________________________________________________________________________
13. When does the firm next break-even?

________________________________________________________________________________________________________________________
Average and Marginal Revenue

· [image: image5.wmf]Average Revenue

· Marginal Revenue
1. What do you understand by the term ‘Average Revenue’?

________________________________________________________________________________________________________________________
2. What do you understand by the term ‘Marginal Revenue’?

________________________________________________________________________________________________________________________
	Sales

(Million Units)
	Total Revenue
	Average Revenue
	Marginal Revenue

	0
	0
	
	

	
	
	
	

	1
	20
	
	

	
	
	
	

	2
	36
	
	

	
	
	
	

	3
	48
	
	

	
	
	
	

	4
	56
	
	

	
	
	
	

	5
	60
	
	

	
	
	
	

	6
	60
	
	

	
	
	
	

	7
	56
	
	

	
	
	
	

	8
	48
	
	

	
	
	
	

	9
	36
	
	

	
	
	
	

	10
	20
	
	

	
	
	
	

	11
	0
	
	


3. Plot the figures from the above table on graph paper and answer the following question.

· What do you notice about the Marginal Revenue Curve with respect to the Average Revenue Curve?

____________________________________________________________________________________________________________________
· The Average Revenue curve is also called the :-

_________________________________________________________
· Why is the mid-point of the Average Revenue curve significant in this case?

____________________________________________________________________________________________________________________
4. On the diagram below sketch the three curves.

[image: image6.wmf]
5. What is the value of Price Elasticity of Demand on the top half of the demand curve (Average Revenue curve).

_______________________________________________________
6. What will happen to Total Revenue if you reduce prices?

_______________________________________________________
7. What will happen to the Total Revenue if you raise prices?

_______________________________________________________
8. What is the value of Price Elasticity of Demand on the bottom part of the demand curve?

_______________________________________________________
9. What will happen if you reduce prices?

_______________________________________________________
10. What will happen if you increase prices?

_______________________________________________________
Average and Marginal Costs
· Average Costs

· Marginal Costs
1. What do you understand by the term ‘Average Cost’?

______________________________________________________________________________________________________________________________________________________
2. Using the figures in the table below calculate the average cost of the product and then plot the Total Cost and Average Cost curves on graph paper .

	Output
	Total Cost
	Average Cost

	0
	200
	

	2
	300
	

	5
	400
	

	9
	500
	

	14
	600
	

	18
	700
	

	21
	800
	

	23
	900
	

	24
	1000
	


3. What do you notice about the shape of the of the Total Cost Curve with respect to the average cost curve?

______________________________________________________________________________________________________________________________________________________________________________
4. What do you understand by the term ‘Marginal Cost’ and what is the formula?

___________________________________________________________________________________________________________________________________________________________________________
5. What do you notice about the shape of the Total and Marginal Cost curves?

______________________________________________________________________________________________________________________________________________________________________________
6. In the table below calculate and plot the values for the Average and Marginal costs and plot them on a diagram.

	Output


	Total Costs
	Average Costs
	Marginal Costs

	0
	20
	
	

	
	
	
	

	1
	50
	
	

	
	
	
	

	2
	70
	
	

	
	
	
	

	3
	80
	
	

	
	
	
	

	4
	85
	
	

	
	
	
	

	5
	95
	
	

	
	
	
	

	6
	110
	
	

	
	
	
	

	7
	130
	
	

	
	
	
	

	8
	160
	
	

	
	
	
	


7. Average Cost comprises of two component parts ; what are these ? 

________________________________________________________________________________________________________________________
8. How do you calculate Average Fixed and Average Variable Cost ?

9. Complete the table on the next page.

	Output
	Total

Fixed 

Costs
	Total

Variable

Costs
	Total Costs
	Average

Fixed

Costs
	Average

Variable

Costs
	Average

Costs
	Marginal

Costs

	0


	200
	0
	200
	
	
	
	

	2

	200
	
	300
	
	
	
	

	5

	200
	
	400
	
	
	
	

	9

	200
	
	500
	
	
	
	

	14


	200
	
	600
	
	
	
	

	18

	200
	
	700
	
	
	
	


Average and Marginal Cost Game
[image: image7.wmf]
· In this lesson we are going to play a game to illustrate the relationship between average and marginal costs.

1) The teacher will hand out four sweets to three members of the class.  The other half of the class need to wait outside.  When they have done this can you complete the table below.

	Number of Students


	Number of Sweets per Student (Average)

	3


	4


2) A new student will now enter the room with three sweets in their hand.  You must calculate the new average number of sweets per student.  Illustrate this in the table below.

	Number of Students


	Number of sweets brought in by the new student (marginal number)
	Number of Sweets per Student (Average)

	4


	3
	


3) When the marginal number of sweets (number of sweets brought in by the last student)  is less than the average number of sweets per student, what will happen to the new average number of sweets?

________________________________________________________________________________________________________________
4) A new student now brings two sweets into the room (marginal number of sweets).  Illustrate in the table below the impact on the average number of sweets.

	Number of Students


	Number of sweets brought in by the new student (marginal number)
	Number of Sweets per Student (Average)

	5


	2
	


5) What has happened to the new average number of sweets and how does this compare to the marginal number of sweets?

________________________________________________________________________________________________________________
6) The third student enters the room and this time they bring 8 sweets (marginal number).  Illustrate the impact on the average in the table below.

	Number of Students


	Number of sweets brought in by the new student (marginal number)
	Number of Sweets per Student (Average)

	6


	5
	


7) What has happened to the average number of sweets and how does this compare to the marginal number of sweets?

__________________________________________________________________________________________________________________
8) The seventh student enters the room and this time they bring 8 sweets (marginal number).  Illustrate the impact on the average in the table below.

	Number of Students


	Number of sweets brought in by the new student (marginal number)
	Number of Sweets per Student (Average)

	7


	8
	


9) What has happened to the average number of sweets and how does this compare to the marginal number of sweets?

__________________________________________________________________________________________________________________
10) On the diagram on the next page graph how the average and marginal number of sweets changed as more students entered the room.

[image: image8.wmf][image: image9.wmf]
11. What relationship do you observe between the average and marginal number of sweets?

____________________________________________________________________________________________________________________________________________________________________________________________________________
Profit Maximisation
1. [image: image10.wmf]What is the profit maximisation point of any firm in terms of total revenue and total costs?

________________________________________________________________________________________
2. What is the profit maximisation point of a firm in terms of marginal revenue and marginal costs?

_________________________________________________________
3. Complete the table below and hopefully this will explain why profits are maximised at this point.

	Output
	Total Revenue
	Marginal Revenue
	Total Cost
	Marginal Cost
	Profit

	0
	0
	
	20
	
	

	
	
	
	
	
	

	1
	40
	
	50
	
	

	
	
	
	
	
	

	2
	70
	
	70
	
	

	
	
	
	
	
	

	3
	85
	
	75
	
	

	
	
	
	
	
	

	4
	90
	
	77
	
	

	
	
	
	
	
	

	5
	90
	
	85
	
	

	
	
	
	
	
	

	6
	85
	
	97
	
	

	
	
	
	
	
	

	7
	70
	
	118
	
	

	
	
	
	
	
	

	8
	40
	
	145
	
	

	
	
	
	
	
	

	9
	0
	
	180
	
	


4. Plot the values in the table on graph paper.


5. In the table below explain the difference between normal, abnormal profits and a loss.

	Profit/Loss


	Explanation
	AR, AC

	· Normal Profit


	
	

	· Abnormal Profit


	
	

	· Loss


	
	


6. What other objectives might a firm have other than profit maximisation?

· [image: image11.wmf]________________________________________________________________________________________________________________________________________________________________________________________________

· [image: image12.wmf]____________________________________________________________________________________________________________________________________________________
· Satisficing ________________________________________________________________________________________________________________
· Customer Service
________________________________________________________________________________________________________________

· Corporate/Social Responsibility
________________________________________________________________________________________________________________

Diminishing Returns
· What is meant by Diminishing Returns? 
· Practical examples of Diminishing Returns.

[image: image13.png]



· To illustrate the concept of Diminishing Returns we are going to do a short exercise.

· We will record the amount of time it takes for a group of people to do a simple task.  The task involves drawing as many smiling faces as possible in 1 minute on a piece of paper.  There will be three pens available to the group for this task.  

· At first there will be 1 person available to do this task.

· A second person will be added and the task is repeated.

· Additional people are added and the task is timed. Everybody in the groups must draw at least 2 smiling faces.

	People Involved (Labour)
	Number of Pens (Capital)
	Number of Smiling Faces drawn

	· 
	3


	

	· 
	3


	

	
	3
	

	
	3
	

	
	3
	


1. What do you notice about the time taken to complete the task as more people are added?

___________________________________________________________________________________________________________________________________________________________________________
2. Why do you think this is the case?

__________________________________________________________________________________________________________________
3. Can you illustrate the concept below on the diagram below?
[image: image14.wmf]
4. What is the concept being demonstrated here?

____________________________________________________________________________________________________________________
5. On the diagram on the next page illustrate the concept of Diminishing Returns by drawing the Marginal and Total Product when a firm produces a product.

[image: image15.wmf]
6. Why is Diminishing Returns a ‘Short-Run’ concept?

______________________________________________________________________________________________________________________________________________________________________________
7. What is the difference between the short-run and the long-run?

______________________________________________________________________________________________________________________________________________________________________________
8. Which factors are often fixed in the short-run?

______________________________________________________________________________________________________________________________________________________________________________
9. Complete the table below, draw a graph to illustrate TP, MP and AP and identify the point where the firm experiences Diminishing Returns.

	No. of workers
	Total number of Teddies (Total product)
	Average number of teddies (Average Product)
	Additional teddies (Marginal product)

	0
	0
	
	

	
	
	
	

	1
	10
	
	

	
	
	
	

	2
	22
	
	

	
	
	
	

	3
	36
	
	

	
	
	
	

	4
	52
	
	

	
	
	
	

	5
	66
	
	

	
	
	
	

	6
	78
	
	

	
	
	
	

	7
	86
	
	

	
	
	
	

	8
	90
	
	

	
	
	
	

	9
	92
	
	

	
	
	
	

	10
	92
	
	

	
	
	
	

	11
	88
	
	



_________________________________________________________
10. Can you explain why Total Product actually falls when the 11th worker is employed?

____________________________________________________________________________________________________________________
11. Using the above information, illustrate on a diagram the typical the short-run average and marginal cost curves of a firm.

[image: image16.wmf]
Internal Economies and Diseconomies of Scale

· Understand what is meant by the term “Economies of Scale”.

· Look at the different types of economies of scale that a firm can exploit when it increases its output.

· Understand why a firm might suffer from diseconomies of scale if it increases its output too much.

a) What do you understand by the term “Economies of Scale”?

________________________________________________________________________________________________________________________
b) On the diagram below illustrate economies of scale that a firm experiences when it increases its output.

[image: image17.wmf]
[image: image18.wmf]
c) There are several different types of economies of scale that exist in business

Technical

Technical economies of scale arise when a firm uses its machinery or equipment to its full potential.

c) A 2 ton lorry costs  $250 a week to run (fuel and maintenance costs).  How much would a 4 ton lorry cost to run in a week? (The 4 ton lorry can carry twice as many goods as the 2 ton lorry) 

________________________________________________________________________________________________________________________
d) Why does this represent an economy of scale?

____________________________________________________________________________________________________________________________________________________________________________________
e) In order to illustrate how a firm might use its machinery more efficiently look at the numerical example below.

· A machine costs £100,000

· The running costs of the factory are £5 per unit

· Firm A produces 500 units of output.

· Firm B produces 5000 units of output

Assuming that both firms buy one machine calculate the following.

· Total cost of firm A
________________________________________________________________________________________________________________________
· Total cost of firm B 
________________________________________________________________________________________________________________________
· Average cost of firm A 
________________________________________________________________________________________________________________________
· Average cost of firm B 
________________________________________________________________________________________________________________________
· Which firm is benefiting from economies of scale and why?

____________________________________________________________________________________________________________________________________________________________________________________
Bulk-Buying Economies of Scale.

[image: image19.wmf]
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f) How does the requirement of raw materials differ between a small firm and a large firm?

____________________________________________________________
g) What do suppliers of raw materials often offer to larger firms when they buy from them?

________________________________________________________________________________________________________________________
Marketing Economies of Scale
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· Imagine that a television advert costs £300,000 for a 30 seconds prime time slot.

· Explain why it works out cheaper per unit for a large firm (output 600,000 units) than for a small firm ( output 30,000 units) to run this commercial.
____________________________________________________________________________________________________________________________________________________________________________________________________________________________________
· If one company merges with another, what happens to the size of its salesforce?

__________________________________________________________________________________________________________________
· How does this represent an economy of scale?

____________________________________________________________________________________________________________________________________________________________________________________________________________________________________
Managerial Economies of Scale

· Write down and try to think of the different departments that exist within a large business.
[image: image22.png]



1_____________________________________________
2.____________________________________________
3.___________________________________________
4.  ___________________________________________
· In a small business such as a partnership or a sole-trader will there be as many departments? Explain your answer

________________________________________________________________________________________________________________________
· What is the advantage to the business of employing specialists and why might it lead to cost reductions?

________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

Financial Economies of Scale
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Imagine that you are a bank manager.  You are approached by two businesses.  One is a sole-trader and the other is a PLC (Nestle)

· Who would you be more inclined to lend money to?

______________________________________________________

· Explain your previous statement and then say what rate of interest you would charge each business.

____________________________________________________________________________________________________________________________________________________________________________________________________________________________________
Task 1

· From the list below identify which type of economy of scale is being exploited by the firm.

a) A firm buys a double-decker coach to replace its old single-decker.

_______________________________________________________

b) A P.L.C. borrows £1,000,000 at a preferential rate of interest of 4% per annum.

_______________________________________________________

c) A Private Limited Company employs a market research specialist.

_________________________________________________________
d) Nestle buy 4 tons of Cocoa Powder from their supplier

_________________________________________________________
e) Nike advertise on prime time television in four different continents.

_________________________________________________________
f) Addidas buy a machine that automatically stitches trainers to replace the workers that used to do the job by hand.  They intend to work this machine to its capacity.

_________________________________________________________
Diseconomies of Scale

· Sometimes however it is possible for a firm to become too large.  This is known as diseconomies of scale. On the diagram below illustrate where diseconomies of scale begin.

· Diseconomies of scale occur for many reasons. The first reason relates to capacity.  What does the term capacity mean when related to machines?

____________________________________________________________________________________________________________________________________________________________________________________
· Imagine a situation whereby a firm is using one machine at its capacity to produce 100 units of output per day.  The machine cost $2000 and the cost per unit is $5.
a) What is the cost per unit if 100 units of output are produced?

____________________________________________________________
b) What is the cost per unit if 125 units per day are produced.  The firm will have to buy a new machine at a price of $2000.

____________________________________________________________
c) What has happened to the cost per unit of the firm after the increase in output?

____________________________________________________________
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Internal communication
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· When a business becomes large and employs many staff it becomes more and more difficult for good effective communication to be carried out between employees.

· If employees do not receive the correct information from their superiors what might happen and what impact could this have on the firm’s costs?

________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

Motivation

· If an organisation grows too big then there is likely to be less personal contact between managers and staff.

· Are employees likely to be more or less motivated of they feel that their superiors are not taking a personal interest in their work?

________________________________________________________________________________________________________________________
· What impact might the above have on their efficiency and thus the costs of the firm?

____________________________________________________________
________________________________________________________________________________________________________________________
Task 2

· In the table below could you summarise the economies and diseconomies of scale as discussed in the previous lessons.

	Economies of Scale


	Diseconomies of Scale

	
	· 

	
	· 

	
	· 

	
	

	
	


IB Economics

Economies of Scale Homework

· You wish to set up in business as a coach operator

	Item


	Costs

	· Years rent on a premises
	£10,000

	· Admin, personnel staff salaries
	£50,000

	· Overheads
	£5000

	· Advertising, media budget
	£10,000

	· Coach hire for two weeks

· Includes:-

· Driver’s wage

· Fuel costs


	£5000

	· 
Hotel expenses for two weeks
	£10,000


· Calculate the running costs of the business over a period of one year when 20 trips have been run.

Total fixed costs     =  

Variable costs        = 

Total cost             = 

Cost per trip          = 

· Calculate the running costs of the business over a period of one year when 40 trips have been run.

Total costs  
 = 
Cost per trip 
 = 
· Cost for 80 trips

Total costs        =

Cost per trip      = 

· What do you notice about the cost per trip as production increases?
External Economies and Diseconomies of Scale

[image: image26.jpg]



· So far we have discussed internal economies of scale.  These are ways in which a business can lower its costs of production (per unit) by growing internally.

1. Illustrate on the diagram what will happen if the firm increases its output.

[image: image27.wmf]
In today’s lesson we will be looking at how the growth of an industry in a particular area can lead to benefits for all the firms concerned..

· Why do so many newspaper companies choose to set up in London?

· Why do many electronics companies set up in Silicon valley in California?

1. External economies of scale can be defined as :-

____________________________________________________________________________________________________________________________________________________________________________________
2. On the diagram on the next page illustrate what happens when a firm benefits from external economies of scale.

· You should also state how this differs from internal economies of scale.
[image: image28.png]



3. In the space provided on the next page consider how an area might develop as more industry is attracted to the area.

· Stage 1 – More firms move to the area. (Imagine the firms are in the electronics industry)

· Stage 2 – Transport links.  What kind of transport links will develop and how will this help the industry?

________________________________________________________________________________________________________________________
· Stage 3 – Suppliers
________________________________________________________________________________________________________________________
· Stage 4 – Ancillary services.

a) Define Ancillary Service. And explain why they might choose to locate next to the main firm.

________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
· Stage 5 – Trained labour force
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
[image: image29.png]



· In the table below summarise the cost savings that can be made by firms as a result of external economies of scale.

	External Economy of Scale
	Cost Saving

	·   Suppliers  


	

	·   Ancillary services


	

	·   Transport links


	

	·  Trained labour force


	


External Diseconomies of Scale

On the diagram below illustrate what will happen if a firm experiences external diseconomies of scale.


· Complete the flowchart to illustrate why a firm might experience external diseconomies of scale.







Answer the following revision question below (in your notebooks)

1. Explain why it more cost effective (lower cost per unit of output) for to use a larger truck that can transport twice as much as a smaller truck? 

 










(4)

2. Why do firms try to use their machines to capacity? 



 (2)

3. Explain why larger firms are frequently able to command larger discounts from their suppliers than are smaller firms? 
















 (3)

4. Explain why larger businesses benefit from employing specialist employees.        (3)

5. Explain how economies of scale could give firms an advantage when it comes to marketing/advertising 







(3)
6. Explain why employee moral can deteriorate as a consequence of growth of a business. 









          (4)

7. Give two reasons why a steel factory might wish to establish itself in the same area as other steel factories. 






                                                                                                              (4)

________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

Returns Scale

· The difference between the long-run and the short-run in Economics.

· What we mean by increasing and decreasing returns to scale.

· How the above concepts link to economies/diseconomies of scale.

1. What is the short-run?

________________________________________________________________________________________________
2. What is the long-run?


__________________________________________________________________________________________________
3. Increasing returns to scale can be defined as?

__________________________________________________________________________________________________________________
4. We can illustrate the concept of increasing returns to scale using the chart below.

	
	Units of Capital

	
	1
	2
	3

	Units of all other factors of production
	1
	20
	40
	55

	
	2
	40
	60
	80

	
	3
	50
	80
	120


· Our starting point is when the firm employs one unit of capital and one unit of every other factor.  How many units of output are produced?

______________________________________________

· If the firm increases both capital and other factors from one to two what is the percentage increase in inputs?

______________________________________________

· What is the resulting percentage increase in output?

______________________________________________

· If the firm increases both capital and other factors from two to three units what is the percentage increase in inputs?

______________________________________________

· What is the resulting percentage increase in output?

______________________________________________

· Explain why the firm is experiencing increasing returns to scale.

__________________________________________________________________________________________________________________
5. In the diagram below define decreasing and constant returns to scale.
	Decreasing Returns to Scale
	

	Constant Returns to Scale
	


6. On the diagram below illustrate the concept of increasing and decreasing returns to scale.


7.  On the diagram below, show the relationship between short-run average cost and long-run average cost.

[image: image1.png]
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